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Choose the correct option from the given
Y11 gl AH eI ol dl 3%33 IT—

(31) oI H WRIST wfdd BI.dh & oy
(8) 3ol yarg @1 Hfg @ forg

() JISTYA ITSTRIL BT YehdT &H B & foly
(@) SUga |+
The purpose of calling the Hurda Conference was-

(a).To stopthe Maratha power in Rajasthan.
(b) To.limit influence of English.

(c) To reduce the unity of Rajput Kings.

(d) All the above.

U3 2 YW AR SR o—
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() <t Sergron (@) dfe BT



The first Governor General was-
(a) Lord William Bentinck (b) Warren Hastings
(c) Lord Dalhousie (d) Lord Canning
ge: 3 IR quer &1 Hdy 8-
(@1) STRUSY ¥ @) AeTvew
(|) XTSI (|) sIRETs

Birsa Munda is related to -

(a)Uttar Pradesh (b) Madhya Pradesh

(c)Rajasthan (d) Jharkhand
U 4 IRIIIRT BT W& BRI o—

(31) faaral @1 e (@)~ e

() HifeTed IMABRI BT FRET0T (8) Sudert i

The main function fo the judiciary.is -

(a)Setting the disputes (b) Judicial review

(c)Protection of fundamen (d)All the above
U 5 Gl 9T H AR Sot BT gRaar BT o

(31) Ul CIRCIBLEE]

() rSguTer @) g

The head of the rulling party in the Lok Sabha-

(a)President (b)Prime Minister

(c)Governor (d)Chief Minister
g 6 TNHR G & IETERIT B—
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Examples of renewable resources are-

(a)Solar energy (b) Wind energy
(c)Tidal energy (d) All the above [ ]
g 7 f=feRad & 9 ama Mg damwrE T8 8- (1)
() gt @) ws®
KNG (@) wrgfas A4 [ ]
Which of the following is not a man made resource?
(a)Bridge (b) Road
(c) Machine (d) Natural gas [ ]
U 8 VIR TRBR 1 3MfGH SIS FHE B Gl H AU ] {Hd Soiiicr bl 2Mmfie
fepar & 2 (1)
SHRIE (@) o
(w) iR () wefar [ ]

Which tribe of Rajasthan has been included in the list of primitive tribal groups by the
Government of India?

(a)Bhil (b) Meena

(c) Garacia (d) Sahariya [ ]

oS — ¥ HAfTeTeRiRITD U

Very Short Answer type Questions

get: 9 FersafeTRae 1 gt HIfoTg— %ox 4=2
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Match the following

(1)Musket (A) A jurist from the Muslim community

(2)Match Lock (B) A charge of misconduct against a person.

(3)Mufti (C) The gun used by Pedal

(4)impeachment (D) Gun in which spark was given by gunpowder

ged: 10 B AT AT § IR G— Yx4=2

(1) AT & U g & O IS AR 81 ¢ | [ ]
(2) <IFT A WY A TRA STy BT AT B B | [ ]
(3) @fst eyl arel &3 ifde & 99 g 2| [ ]
(4) 3MeNfire &5 AR ® 3R 18} U B & | [ ]

Answer in Yes or No —

People are the biggest resource of a nation.

[ ]
People generally prefer extreme climate. [ ]
Areas with mineral deposits are more densely populated. [ ]

[ ]

P w NP

Industrial areas do not provide employment opportunities.

U 11 <LATH d0 BT F T MU © 2 (2)
What do you understand by minimum wage Act?

3R / Ans

U 12 Afect] HIRITBROT DI ATIDBIT P bl al BRI {IRIU | 1+1=2

3 (1)

(2)

Write any two reasons for the need of women empowerment.

Ans (1)

(2)




T 13 | 1857 H #RG BIA & Ul P Y BRYA TR T VRIS o ? 2
Why did the Sepoys of Meerut Cantt in year 1857 had objection on new Cartridges?

3N / Ans

g 14 WIAdTST DI ORATT BT HAAIRER Bl Srdl & | &l ? 2
“ Bhilwara is called the Manchester of Rajasthan.” Why?

3R / Ans

U 15 S¥C SMUSAT HHAT ARAR fHAMI TR A $I WA B, g, Q61d ST o, qi? HROT
L N | (4)

Why did the East India Company put pressure on Indian farmers to cultivate indigo?
Explain the reason.

<IN / Ans

g% 16 faiE B & BRI & goi Y| (4)
Describe the types of subsistence farming

3N / Ans

U 17, YN e Bl 3] WL HRA §Y Hedl Al JMETRT S BT v B | (4)

Explain the term ‘Industry’ and classify of Industries on the basis of raw materials.

IR/ Ans




T 18 (i) BT HISTY BT 3T 1850 B B H U T YRIR H YT gY, 9 |FI
WHR gRT FTferd Uresmemsli &R P a1 39 ¢ | (2)

Imagine that you were born in a poor family in 1850 decade, at that time Give two
opinions on school run under government.

3N (1)

(2)

(i) grafAe el # UdW oM & qIQ ANTHI HEmRll B IeIgS W MM dw fJermery
BI$ od 8 I ? 31 SR oy ()

Half of the children taking admission in primary schools leave their schools for further

studies, why? Give two reasons.

IR (1)
(2)
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4 3FTel GATd e BII?

Complete the following table.

S.N. State Govt. Central Govt.
1 Which political parties are

currently in power?
2 The elected representative of

your area

3 Which political party is
currently in opposition?

4 When will the next election
be held. ?







e 20 (i) U &1 Aiferd f¥eR qargy e $ig fad g+t fiseT Ud 9 al IReb a8
R GR a1 & g TRt o | (2)

Mention two fundamental rights which a person can use to emphasize his dignity
and equitable treatment.

3N (1)

(2)
(if) T =8l =1 &l 1 guid BIRTY RTd Bk ¥qerd &1 usar Yakid 8l | (2)

Discribe any two areas that show the identity of the marginalized community?

I<IN/Ans

T 21 JSIRAE & AFS H qRIisy— 4x1=4
SIEISEN (@) wRAgR (%) reft () srsarst
Show in the map of Rajasthan
(a) Barmer (b)Bharatpur (c) Pali (d) Banswara

I<IN/Ans



g 22 A QT U F weEl § W S 9 B SR ST | 4+4=8

Attempt any two questions out of three question given below

(i) 1857 &1 Hifdr DI FHerdl Td AHerdl R 319+ faaR for |

Write down your opinion on the success and failure of the 1857 revolution.

IdY/Ans

(i) "RA @ Moy H I ARt el & arTe” wR AR | ford |

Write in detail about the contribution of the father.of Nation Mahatma Gandhi in
the freedom of India.

3<I¥/Ans

(iii) fele AN R fRaR & forg |
Write'in detail.about the Rowlatt Satyagraha.

I<IN/Ans




ue: 23 fefefad wR fewoh fafay | 4+4=8
Write your Comments on the following
(i) S1g Aveel Biosphere

(i) IRaT=  Ecosystem

I<IN / Ans(i)
(ii)
ST
OR
YRIAT FI] 22 T8 9l BIAT o7 RIS JAb & IUI qarsy | (2+3+3=8)

What.isa landslide? Why does it occurs? Write the measures to prevent landslide?

I<IN/Ans

10



o 24 GfAU | oMY T IHST & ? GfAUTH &) SMagydha] & HRUT WL dy | 2+6=8

What do you mean by constitution? Explain the reasons for the need of the
constitution?

AT

OR
e fARUETAT ®1 YR &7 31 TG IofH= H sHd! IRifdar o e faar ford |

Write your views on the meaning of the concept of secularism and its relevance in the
present time.

3<I¥/Ans

g% 25 fau g 9 ygAl § 9 Bl & Ul & SR QIR | 4+4=8
Attemptany two questions from the given three questions.
(i) IR & Feayel drifos 7 wefdd wied el &7 aue o |
Describe the important geographical and natural tourist places of Rajasthan.
(i) Tso GRem FTHl &1 IR | Seerd N |
Mention road safety rules in details.
(i) SR Taewar # fdenell Fr—ar y#Her i gad © 2

What roles can the students play in the Community cleanliness ?
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